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QUESTION 1 - COMPULSORY 	 (Total =40 Marks) 

a) 	 Compare and contrast graphically the equilibrium analysis ror a perfectly competitive 

finn and monopoly in the short-run. Also show explicitly mathematically, how 

profits are maximised in each market. (25) 

b) Discus the long-run equilibrium for a monopolistic competition. (10) 

c) Define natural monopoly. (5) 

ANSWER ANY TWO (2) QUESTIONS FROM THE FOLLOWING: 

QUESTION 2 

The cost function for a perfectly competitive firm in the short-run is given as follows: 

i) Calculate the profit maximizing output level for this firm ifP El20. (10) 
ii) Derive the supply function for this firm and explicitly show the boundaries of the 

supply function. (15) 
iii) Provide a rough sketch of the supply function you derived in ii). (5) 

QUESTION 3 

Two firms in Matsapha produce cheese that has lhe same taste. These arc Parmulut 

Swaziland and Nutriday Swaziland. The profit of each firm depends on its own output level 

and that of the rival firm, and these profit functions are expressed as follows: 

TIp 24Qp Q/ 2Qn2 8 

TIn 30Qn 3Qn ­ 3Qn2 
- 2Qp ­ 9 

i) 

ii) 

iii) 

What kind of market structure are the two firms operating in? 

What will be the output level in each firm? 

Derive the profit for each firm. 

(5) 

(10) 
(5) 

iv) Calculate the firm's profit and output levels if these two firms collude / form a 

cartel in order to maximise joint profits. ,- (10) 
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QUESTION 4 

Write short explanatory notes on the following concepts: (5 marks each) 

i) Short-run supply curve under perfect competition. 

i) Prove that for a monopolist, the marginal revenue is always below the demand 

curve. 

ii) Differentiate between Cournot behaviour and Bertrand behaviour. 

iii) In the short-run a perfectly competitive firm will continue with production 

even though it cannot cover all its average costs. Graphically illustrate ,1I1d 

explain the condition under which this statement is true, 

iv) Cartel 

v) What forms the basis for monopoly power? 
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